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EE 5306 Homework

Design a 3 dB quadrature hybrid with a center frequency of 3 GHz. Go to Rogers
-Corporation web page (www.rogers-corp.com) or Taconics and select a suitable material
for your design. Keep the same substrate material for ALL your designs.

Design the hybrid for each of the cases below:

a) Wilkinson Power Divider
b) Branch Line Coupler

¢) Coupled Line Coupler

d) Lange Coupler

Show your calculations and verify the results using ADS. Hand in your plots, the circuit
schematics, and the layout plot (generated by ADS or by hand). Discuss the advantages
and disadvantages of each structure. Show the results in dB and verify that the phase
differnce between the output ports is 90° . Plot results from 0.5 to 5 GHz,




